M43 30 fFRI015ER » 5 - B B0 3 SR F3Amip 4

101#£03% 23p 1005 & & % 25 & % 1= %1% € R 16
T 101#475p £ H(2)F 5101005907680 % A &%

7 s ¥ 5 y -8
1B AT L T I = #3x
¥ e N EE A E R T E P E
& > 4l al2)2]2]2
= 4l al2]12]2]2
Y EELE 2121212
Wapp | TR 2| 2 2 | 2
(22.5%) |z =212 % 2| 2 o | »
oy 2| 2 > | 2
2 EARD 21 2 2| 2
)3t 18|18l 6 | 6|6 |6 |4|4a|2]2
s i B 2122 2
BEAAH | 2121212
FPRTS%|AF 22T 21222
)3t 6(6[6|[6|olo|lo]o]o]oO
AHE 313|313
“ T T G % 21 21212
i3 T TG 213213
4 Sl e 2| 2 2 | 2
1 g g i 2] 3 2 | 3
EX bk B 2| 3 2 | 3
BEP | R R L > 2| 2 2 | 2
P ErrpEadzY% 2| 4 2 | 4
(37.5%) > B EHk% L% 2| 4 > | 4
sk 2R G orphER | 2| 2 2 | 2
FEALE F IE 2| 2 > | 2
R A=) 213 2 |3
Ea ) 213 2 |3
LA T 3| 3 3| 3
)3t 30[39 7810|148 |11]5]6
PR EER 2121212
Ry [S8EF 2] 2 2 | 2
o LA 2| 2 > | 2
(10%) EEEX 2| 2 > | 2
I3 gl 8l2|2|2|2]|2|2]2]|2
il A &3t 62| 71|21 | 22| 18| 22| 14| 17| 9 | 10
(77.5%) s

101k (k= B)$1F



M43 30 fFRI015ER » 5 - B B0 3 SR F3Amip 4

101#£03% 23p 1005 & & % 25 & % 1= %1% € R 16
T 101#475p £ H(2)F 5101005907680 % A &%

Y

S

%

5o

#

S

&

]

s

!

s

o

g 2w

g

g

gr

g (Fa

gp

& s

SN
™ T

A
P
(7.5%)

2

2

2

N

2

2 [T [ [k

LEFEG
o
(15%)

o (0 2 U B (Rl i e

—\
Pa

A7 [ [ [ [ v | [

I

b (40 [ |55 | =R
2
%

=\

NINININ

NINININ

5
> e
Kl

IF (A | [4%
e |-

28| Sek [ | b
?\:-F'J‘Q

Eol =N A B

e

— L
[l

NINININININ

NINININININ

drd i EA A R ES ek e d i R L RN B

Rl PRl EN

il i
ol gl

i

[

Lk

W [edz

=+ =

Fos

i R AR

i3 A B el P

B HEE

NININININININININININININININININININININININ
NININININININININININININININININININININININ

EBFL LT

=
(0]
-
oo

0] 0

2

QO ININININININ

OO ININININININ

ZFFL R

80[ 89 | 21|22

20

24

22

25

LE0T A& 8054

GBS 62EA

FEA (R EES REC%I ) 188 A

1014 (k= )52F



